SQUARES ADDITION AND SUBTRACTION WORKSHEET
27.04.20

WALT: use different strategies to help us subtract. (MNU 1-03a)

*Remember to use your counting back knowledge.
You could also use a 100 Square such as the one on Topmarks (see website

details below).
https://www.topmarks.co.uk/learning-to-count/paint-the-squares

1 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 42 43 44 45 46 47 48 49 50

51 52 53 54 55 56 57 58 59 60

61 62 63 64 65 66 67 68 69 70

71 72 73 74 75 76 77 78 79 80

81 82 83 8 | 85 86 87 88 | 89 90

91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100

21-3 = 23 4=
37-2= 31-2=
45 -5 = bb — 6 =
58-2= 50-10=

62—5= 66 - 6 =


https://www.topmarks.co.uk/learning-to-count/paint-the-squares

‘% Blob is an alien. He has 24 Milky Way Shakes to drink.

He drinks 5 of them on Sunday. How many does he have left?

Jo and 3 to her friend Minty. How many flowers does Trixie have
left?

10-1= 20-1= 30-1=
40 - 1 = 50-1= 60— 1=
70-1= 80-1= 90-1=

What is the pattern?

! ; There are 80 dinosaur eggs. One of them hatches.

How many eggs are still to hatch?

Sam has 50p and spends 1p. How much money does he have left?



1 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 | 37 38 [ 39 40

41 42 43 44 45 46 47 48 49 50

51 52 53 54 55 56 57 58 | 59 60

61 62 63 64 65 66 | 67 68 | 69 70

71 72 73 74 75 76 77 78 79 80

81 82 83 84 85 86 87 88 819 0

91 | 92 | 93 | 94 | 95 | 96 | 97 | a8 | 99 | 100

22 -2 = 28 - 8 =
43 -3 = 49 -9 =
76 - 6 = 75 -5 =
81-1= 84 -4 =

What is the pattern here?

Paws has 34 doggy treats. She eats 4 of them. How many does
she have left?

by

Jo has 47p. She goes into a shop and buys a book. The

book costs 7p. How much money does Jo have left?



8+2= 18+2= 38+2=
19+2= 29 +2 = 49 + 2 =

10+2= 20 +2= 60 +2 =

‘Cgril the cat catches 8 mice on Monday. He catches 6

more mice on Tuesday and 2 mice on Wednesday. How many

mice has Cyril caught altogether?

(Challenge: Cyril catches 28 mice on Monday, 6 more mice on
Tuesday and 2 mice on Wednesday. How many mice has Cyril

caught altogether?)

Mrs Duff ate 4 chocolate bars in the morning. She ate 5 more

chocolate bars in the afternoon and 6 more at night!! She felt sick

after that! How many bars of chocolate did she eat altogether?

(Challenge: if she ate 34 in the morning, 5 in the afternoon and 6
in the evening, how many did she eat altogether? She was a bit

greedy!)

Finished!

Well done for trying your best. G



